l\\\\ Hannay Reels’ 19923

The reel leader.
Hannay Reels, Inc. Phone 1-518-797-3791 MODEL H16-14-16
553 State Route 143, Westerlo, NY 12193 Toll Free 1-877-GO-REELS (467-3357)
www.hannay.com Fax 1-800-REELING (733-5464)
Email: reels@hannay.com Int'l Fax 1-518-797-3259

1/4" INLET/OUTLET (STD.)

3/8" INLET/OUTLET (OPT.)

Hannay ISO Parts Lists are available at www.hannay.com H-1307-P Rev3 2/24



PARTS LIST

ISO 235
MODEL H16-14-16

When Ordering Parts
BE SURE TO SPECIFY COMPLETE MODEL NUMBER and SERIAL NUMBER OF REEL

USE PART NUMBER!

Item No. Description Part No. Qty
03 Cam Lever Drag Brake Kit (see ISO-254 fOr Parts)..........coccueiiiiiiiiiiiiee e 9947.0140 1
12A  (14-16) 14" Dia. Disc (18 GA Steel) w/ Access Hole (Specify Model, Front DisC).............ccccee..... 9903.0311 1
12B  (14-16) 14" Dia. Disc (18 GA Steel) w/out Access Hole (Specify Model, Back Disc) ................... 9903.0311 1
13 Drum, 6" Dia. Aluminum Pipe (Specify MOdel) ... 9905.7112 1
19 Tubular Frame Assembly for C16-14-16 (see 1ISO-260 for parts)..........ccccoeecvveeeeeiiiieeeee e 9906.0681 1
25A  3/8"-16 x 7/8" Button Socket Head Cap SCreW ........ceeiiiiiiiiiiieiiiieee et 9904.9201 4
25B  3/8"-16 X 3/4" SPINIOCK BOIt ...t 9904.2201 4
25C  #10-32 x 5/8" Hex Socket Button Head Cap SCreW ........ccccccuiuiiiiiiiiiiiieieeeeeeee e 9904.9041 1
27 £ (O 2 N1 | SRR SUS 9904.4900 1
28A  Shaft Collar (1.31" O.D. x 1" I.D. x 0.75" Length) w/ Offset Set Screws, per P28A-00790 .......... 9955.0250 1
28B 1" Hub Spacer Washer - Plated (1-7/8" O.D. x 1-5/16" I.D. x 1/8" Thick).........cccevviiiirieeiiiiienenn. 9954.0021 2
30 1/2" Cable Clamp (VINYI-C0AEA).......ccoiiieiiiee et e e e e e e e enneas 9955.0015 1
33 H16-14-16 Hub (1" O.D., 1/4" Internals), per P33A-00111 .......cccoiiiiiieiiieee e Specify Model 1
34 H16-14-16 Hub (1" O.D., 3/8" Internals), per P33A-00112 (Optional) ..........cccooierieiiiiiiieeeee. Specify Model 1
40 1/4" 90 Deg. MxF Steel 10,000 PSI BP Super Swivel Joint (BUNA).........cccooiieeieiiiiiieee e 9925.8111 1
41 3/8" 90 Deg. MxF Steel 5,000 PSI Super Swivel Joint (BUNA) Zerk Fitting (Optional)................ 9926.8151 1
55A  OVal KNOD HANAIE ...ttt et e e e e et e e e e e enneeean 9914.0565 1
55B  5/16" Shoulder Bolt, Washer and Nut (for Oval Knob) ... 9914.0531 1
LG Y N U o] o<1 g O U (o1 o I o TSSO PPPPPRS 9965.0058 2
Eo16] = T {01 o) o =Y gl F=T g Vo [ Ty o TSROSO 9965.0057 1
56C  Rubber Grommet for H16-14-16 REEI .......ccoiuiiiiiiieiiie e 9949.0600 1
56D  Black Gear Tie (12" LONG) coouueeeiiiieeiiiee et e et eeeeestee e e sitee e stee e et e e e enseeesaeeeaasseeeanneeeaneeaeanseeeanes 9949.0082 1
87 7-1/2" Long Anodized Aluminum Threaded Spacer PIPe ..........ccoocuiiiiiiiiiiiiie e 9904.0315 4

Hannay ISO Parts Lists are available at www.hannay.com H-1307-P Rev 3 2/24



